
SAP ABAP table JKACCOUNT {IS-M/SD: Liability Account for Subscription}

JKACCOUNT

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR_UR [NUMC (6)]

CYCLENR [NUMC (3)]

VAUSGB_F [CHAR (10)]

VAUSGB_L [CHAR (10)]

VAUSGB_LBI  [CHAR (10)]

WAERK [CUKY (5)]

KURST [CHAR (4)]

JDTVAUSGB

MANDT [CLNT (3)]

VAUSGB [CHAR (10)]

 JKACCOUNT-VAUSGB_F = JDTVAUSGB-VAUSGB 

0..N

{0,1}
 JKACCOUNT-VAUSGB_L = JDTVAUSGB-VAUSGB 0..N

{0,1}
 JKACCOUNT-VAUSGB_LBI = JDTVAUSGB-VAUSGB 

0..N

{0,1}

JKAK

MANDT [CLNT (3)]

VBELN [CHAR (10)] JKACCOUNT-VBELN = JKAK-VBELN 0..N

1
JKAP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 JKACCOUNT-POSNR_UR = JKAP-POSNR 

0..N

1

T000

MANDT [CLNT (3)]

 JKACCOUNT-MANDT = T000-MANDT 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 JKACCOUNT-WAERK = TCURC-WAERS 

0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 JKACCOUNT-KURST = TCURV-KURST 

0..N

0..N


